STNY
v e/ %4

B om =R

K49668

gEa—F
it X MWM1072W

gaa—FK K49669

it XX MWR1072W

= aptEaEst UWwM1072-01

* BmMTEN DRI, W Ehmitia RN e I EFZELY,
- A mO—ERICIE, FEoH Y MRTDAHDERRAHIET,

= tIHI 7?7 O UST v o






D T3EXIZDNT

HEBRmOMIGERICDONT

GE, FRUHEBEZ ZERE < 7ZE 0,

—

SISICICIcE
S

[y

20 B

ﬁ

S

5=

R

jix3

o Zo Eo

PR

!
)

B O3

XEREREEXIHRRRBE LT, RRICREA
DAR—LTL—FIRRTLTLWET,

2. o =], [ ]iE UFozea®kLT
BOES,

(=] v nl, MABAENTO S WD
B 2 12 0 F72 20

(] 7 v s 5 6 T
TS L7 i

3. RHEEN[ | iceoCnd b olt, il
i EEVD, IR R DD ETOT, ZOH
BE SRR SO & E T,

4. MO —EIZIE, & -y MERTBOHR
DR B T3, THLOBILI TR ZE
W, FERE BRSO 0ERL TR >
MRFED DX E SE W2 & FT,

KEBITWRFICLY FERSBIR - MEEZLE
TLHLZEBRHYET,

FEER A S A IERT A 2 B E O SRO S TEE W,
ML BT D £9 & MO
PEREISZ BT 2580 H 0 £,

Z DR OAE AR SR OAAGEERR GFI) 13, B
EFHUVR%9FETY, ZEL, fIGFERNTH-
Th., FERESIZ OW TR & & THR S E T
W GabH Y £,

FEET S DU IR RIBIZ 1T ERE O AR EEIR THE
TLETA, BHEFEREIER TH->Th, Mt
#5 D ZHFED B o TG BT K UMk 2o
TIMHRESETWEEEET,

REEIZDULNT

PR DO UGBTI DFR & 720 £4 DT, 1T
TLES W,

godE L7e G B Pl B SR~ S 72 IE LUTE
MBI E B2 D581E, BRIEOIRIN 2D £4 D
TITEELSIZSN,



MWM1072W . MWR1072W S v EYT TV
ABUR- X v REB-BAY-NT

@
AHET| 55 & 5 B i A i A% T =
1 | 1486440004 AR RCP 2
2 |NZ20 Fvh 8 2v2 M20 2
3 | 1087340000 Xy AX ;125 2
4 1000453000 |FLZE L ;9 2
6 | 0008510000 *y¥v/;28. 6 2
8 | 1486450004 ¥ U T —ALCP 2
9 | J6207LLU R—=n_X7Y>7 6207LLU 2
10 | J6208LLU R—=n_X7Y>7 6208LLU 2
11 | DCO35 CHH¥ AU 27 35 2
14 | 000416000M *yv7 ;80 2
15 | 1105551000 ALY ;15X6. 00—-6—4PR 2
16 | 1105560000 Fa—7;15X6. 00—6 2
17 | 1105570005 ARA—N;6X4. 25 2
18 | J6205LLU R—=nN_X7Y>7 6205LLU 4
19 | 089247000M | B T — 2
20 | 076507100M Fyv/ 2
21 | 000762000M Fyv 7 2
22 | 072968100M Tyiy ;14 2
23 |NZ14 JFvhk 8 2v= M14 2
24 | WSA14 NEXHFHX 33d7 M1 4 2
25 | 1105541000 ZAY (7 3) R 15~17fF




MWM1072W . MWR1072W S v EYT TV
IL—L )T T—L

A& 5 o5 5 & mi 4 i) A% T =

1 | 1578633003 AL 7L —ALCP 1

3 | 000006200M nU—YJr ey ;01 2 | Fw by ARYHRA
6 | 0008230000 PICH/ R —; 1 1

7 10000963000 PIC*xv~” ;35 1

8 | 1606060000 Fy 7YV 7 Assy ;110 1 | _—=HEfF
10 | 1629240004 H7 7L —ACP 1

11 | KBB-3030B H—R RIA_TIU 7 B 30X34X30 | 2

12 | KBF-3030B H—RRKIF74B 770UV F% 30xX30 2

13 | ONC6 JV)—2A=v )L C M6 2

14 | 148586000M vy 215 2

15 | PS100045 AFYLTEY 10X45 2

16 | DCO30 CHEZRNAD Y7 30 2

17 | 148575000M vFCP;70—79 4

18 | 148577000M EFCP ;123 1

19 | DCO30 CHHX AU Y7 30 5

20 | ONAG TV =A==y A M6 1

21 | 1485952003 =T —TNCP 1

22 | CAPO75075 XyvS THEXT75X3. 2 4

23 | ONB6 JIV)—A=v 7L B M6 4

24 | 148589000M Aam—LCP 2

25 | 000415000M Xy ;62 2

26 | 000738000M JoFEL ;6 2




MWM1072W . MWR1072W S v EYT TV
IL—L )T T—L

FT avEE

e I R e s B i A i A% T
27 | WRA24 EIHTR M2 4 2
28 | 1486491003 HN— 3 7 R A A 1
29 | BSQZ08016 A X SWQWYFAR/NLE 7 M8X16 2
30 | 1485810004 V7 h7—ALCP 1| MWMLO72W
30 | 1486790004 Y7 h7—ALCP ; MWR 1 |[MWRLO72W
41 | 1339780000 STAR~Y—Z7 7L ; 40 2
42 | 1339060000 STAR~—Z77~L;31. 5 1
44 11061641000 TV A ay 1 1
45 | 1064630000 SV AL ay 49 1
47 | 1064620000 TV A4 a7 48 1
48 | 1064640000 TV A4 a7 50 1
50 | 0009360000 | NPT Y—=50100SQS 2
51 0009630000 | NPT~ ; W—50100SQS 2
52 | 1505500003 k727 7L—Fhk; L 1
53 | 1505490003 k72771 —F; R 1
54 | 1505510003 A=W t 4. 5 2
55 | WSA20 NEPFHEX 3327 M20 2
56 | NZ20 JFvk 8 2v= M2O0 2
57 | BX20100 ALE 10. 9 M20X100 2
58 | 1505520003 nU—Yr 77 L—5h; ] 2
59 | BX20090 ALk 10. 9 M20X90 4

-3-




SwEVITY

MWM1072W MWR1072W
IL—L )T T—L

FT avEE

oF |OoE
j=al ==l
Ho | ¥
N
m| m
= N
NI
R
mWFAA.AAT_llll
=
=
N
ENEN
Folof RN
a\J Ko\ Mo -
5|5 || e
og SN RN
HEER n|ln
S| IRZI BN EN
FE|N|o| <D
NENN
S I RN ENEN
R jnll Bl IR
<[5 |nin|33
AL RIEIDIEEKS
AN R | | IN]IN
il
=828 |8
e S|o|o|D|D
SO|IN|—H|[D|
o J | F|o|S|o
Og ol<F|n|D|—|©
O[T~ =] -
AN DO —
MmN | o|o|D|w
Zl=l1Oo| | —~|—|—
oo
Hilo|— | ||| o
H O O O|©O©|©[©|©




MWM1072W MWR1072W SwvEVHI IV
T—2)Lavyy

A& 55 5 B i 4 i A% T =
1 |803359100M 7—ACP 1
2 | KBB-2025B =R RIARTY 7 B 20X23X25 | 2
3 ]803363000M =% 1
4 | DCo25 CHHA AU ¥/ 25 2
5 | WRA20 IR M2 0 1
6 | PC050036 JYUEY 5X36 1
7 1098630100M v 1
8 | BSZ08060 afHRNVE T M8X60 1
9 | NNFO8 750 FAurFy b M8 1
10 | 081735000M AT T 1
11 | 045687000M T A Rk 1
12 | 025266000M X oA H R 1
13 |NZ12 Fvh 8.8 232 MI12 2
14 | 1173401106 YU CWP30X50X275 1
15 | PC050036 JYUEy 5X36 1
16 |WRA16 IR M16 1
17 |NNF12 7704 urFy b M1 2 1
18 | 1485781004 777> ~hCP 1
19 | BSZ10120 afAZRLE 7 M10X120 2
20 |NSZ10 affAZFyh 8 2¥=2 M10 2
21 | WSA10 NEXPFHX 33a7 M1O0 2
22 | ILT300 Aauy XA 4., 8X301 2
23 | 0887210000 AN FGNF a—T 2
24 | WRAOS eIV AR MS 2




MWM1072W MWR1072W SvE I Iy
IND—INyr—2

19

AHEE| & M & & B i A i % fii =
1 | 1342021000 INT =Ry = 1| "R23ft
2 | 1486410004 777> hCP 1
3 | 1105110000 PICY¥7Fh 1
4 | J6206LLU R—=L_7Y 7 6206LLU 2
5 | 0728590003 A At — 1
6 | 079480000M Uiy ;30 5X3. 2 1
7 | 143867100M | AFmA v h; 40X40T 1
8 10590442006 TART Ty 1
9 |NN16 FA4arFyh M16 1
10 | LA40053 n—5Fx—>2; 40X53L 1 | H24, 25fF
11 | 084271100M |A7®m4 v k; 13T 1
12 | 110579000M |x=> R7L— |k 1
13 | BSZ10020 afHERNLE T M10X20 1
14 | WSA10 NEYPHF 337 M1O 1
15 | BSZ10025 afHERNLE 7T M10X25 6
16 | WSA10 NxYPHx 337 M1O0 6
17 | WRA10 7 HER M10 4
18 | BSPZ08025 afHXSWYFARLE 7 M8X25 4
19 | 1485630004 | HN— ; RNTU— Ry = 1
20 | 0442890000 =XV ;M8 1
21 | WCR1HO8 YPINREXPAR 1v=2Vay MS 1
22 | 080414100M Ty 8 4
23 | KFC05050180 |~A 27 %— Uavw</ 5X5X18 1
24 | AAO40 YETF 40 1
25 | AD040 7%y bV r 40 1

-6-



MWM1072W . MWR1072W S v EYT TV

A NI Y
12
&/ 10 19
@ s
13
"
3 e 2
2
1"
18
17 13
‘
%,
065-0058-1003
AHER| W oM F B B i A i A% fii
1 1628840004 |EB HAXRTY L2 FA 1
2 | ONAS1 JV)—A=v7V A PT1,/8 1
3 | BX10030 AR 10. 9 M10X30 22
4 | WSA10 NxYPHx 337 M1O0 22
5 | BH12055 Fyvy 7B 10. 9 M12X55 2
6 | WSA12 NEPFHEX 337 M1 2 2
7 10931810002 r=4>;13T 1
8 1484820002 | XL EY 12T 1
9 | KFC07070250 |~Af 2% — Uzgu<w/l 7TX7X25 1
10 | 1485550000 | _X~L¥Y ;22T 1
11 | 1485541004 VXY TR AL 1
12 | DC025 CHHE AU 27 25 1
13 | JCS205LLU o=y haUXRTYLY CS205LLU 2
14 | JPF205G NA 75 <) PF205 2
15 | BSZ08020 afAZRLE 7T M8X20 3
16 | NSPO8 afBEATYV Ty 4 M8 3
17 | 055149300M |4 75 2
18 | BSPZ08020 afHXSWYFARLE 7 M8X20 3
19 | 096757000M P25, 5X0. 6 -
20 | 0556990000 DN -
21 |803181000M | 7747 v hCP ; AA 1
23 | 1506270000 a7YE—H ; ORB—G—70 1
24 | 0984980000 Jyiy ;6. 5X3. 2 1
25 | BPZ06025 SWYFAR/LE 8. 8 M6X25 1
26 | 0984990000 A— 1
27 | ONA6 JV—2=v 7L A M6 1

-7-




~

MWM1072W . MWR1072W S v EYT TV

2K 0—5-N)L b+

065-0058-1004
A& 5 o5 5 B i A i A% T
1 | 1485440004 n—7CP 1
2 1489140004 n—JCP;F 1
3 | JCSPB205LLU | X7 U/ =2=vkr CSPB205LLU 4
4 | BSPZ08035 aHFXSWYFARLE 7 M8X35 8
5 | 080414100M Ui 8 8
6 | DC025 CHHA AU ¥/ 25 4
7 | 148553000M A7l b 40X21T 1
8 |148560000M |HZ—;25. 5X15. 5 1
9 | 096757000M ;25 5X0. 6 -
10 | 0556990000 PN -
11 | LA40087C n—5Fx—r 40X87L 1 | J33, 34
12 | AD040 F 7y RV T 40 2
13 | 148549000 | 7L — b 1
14 | 1485560000 n— 1
15 | 065482200M Ty ;12 2
16 | WSA12 NEYPHx 337 M1 2 2
17 | BZ12070 ALk 8.8 M12X70 1
18 | BZ12030 ALk 8.8 M12X30 1
19 | 8038060003 HX—CP ;u—77 Ry 1
20 | 1181490000 =1 ;M8 2
21 | WCR1HO8 YINREXYFATR 1v=2Vay MS 2
22 | 143858000M 27al sy h; 40X12T—20T 1
23 | 148560000 |HT7—;25. 5X15. 5 1
24 | 056984000M 707 1
25 1325481000 |~k ;2210 2




MWM1072W MWR1072W SwvEVHI IV
2K 0—5-N)L b+

065-0058-1004
AHEE| & M & & w4 i A% fii
26 | 148607000M |~V RHA K 2
27 | NSZ10 afEZFyh 8 232 M1O 4
28 | WSAL0 NxYPHx 337 M1O 4
29 | WRALO 7% HF M10 4
30 |000085200M | X—Z ' ; 8X1. 6 2
33 | AC040 2PA 7ty NV 40 1
34 | AA040 YETF 40 2




MWM1072W MWR1072W S v E I T Y
Sy ITRILE 1.2

065-0033-1033
A& 5o 5 B i A i % fii =
1 0936163002 ¥ 7 b 1
2 | ONA6 TV —ZA=v 7L A M6 1
3 |NZ20 Fvhk 8 2v2 M20 1
4 10936170002 TR T — 1
5 | WSA20 NEXPFHX 33d7 M20 1
6 | 093618200M 0y 7 Fl—h 1
7 |BJ05012 H$7F%Fv vy 7B 10. 9 M5X12 2
8 |1625120000 HALACP Assy 1 | AR RIART )T
10 | 110567100M Ve G NER /A 1
11 |NN20 FAarFy b M2O0 1
12 | WSA20 NREYPHFx 337 M20 1
13 | 098604200M 7y KCP 1
14 | WRA12 AT M1 2 1
15 | PC032020 JYUEY 3. 2X20 1
16 |NZ12 Fvk 8 2v=2 M12 1
17 | WRA12 AR M1 2 1
18 | 093754000M T —7 T R;12X48 1
19 | 093755000M 'y 12X48 1
20 | 077412000M AF) 7 H 2
21 | 093548100M T FRNE 1
22 | PS050040 2FY L TEY 5X40 1
23 093623300 7 v F RV R 1
24 |NZ14 JFvhk 8 2v= Ml14 1
25 093624100 | 7L —kKCP 1

-10 -




MWM1072W . MWR1072W S v EYT TV

Sy TRILE; 1.2

065-0033-1033

RHES ) B n F 5

W odn A W

i %%

]

26 | 093495000M

277 H

27 | BSZ10050 afAZRLE 7 M10X50

28 |NSZ10 affAZFyh 8 2¥=2 M10

29 | BXI12050 ALk 10. 9 ¥ M12X50
30 |NZ12 JFvhk 8 2v=2 MI12

31 [ WSAl2 NEXFHX 33a7 M1 2

32 [ WSAL0 NEXHFHX 337 M10

33 | 110569000M o7 _—2

34 | 077412000M

ATV T H

35 | KBB-5020B

=R RITAXTY 7 B 50X55X20

36 | BZ06020 Ak 8.8 M6X20
37 | NZ06 vk 8 2v=2 M6
38 | DCO50 CHHENADU Y27 50
39 | ONB6 JY)—A=v 7] B M6

40 | 148574000M

2y R;M12X235

41 1 093754000M

TH—7 TR ;12X48

42 1 093755000M

B 12X48

43 | NZ12 Fvh 8 2va2 M12

44 | 078712100M A 50X1. 2

45 | 803536000M Vo7 _R—ACP

46 | J6203LLU R—=n_X7Y>7 6203LLU
47 | DEO012 EAX R AT 12

48 | BSZ10025 afHARLE 7T M10X25
49 | WSA10 NEXFHX 33d7 M1O0

I[NNI N NN == == =N

-11 -




MWM1072W MWR1072W

SwITRILE ;3

e I R s B i 4 i A% fii
1 |098613300M |7 —LALCP 1
2 | KBB-2025B =R RIAXRTY 7 B 20X23X25 | 2
3 1093621000M =% 1
4 | WRA20 EIHH R M2 0 2
5 | PC050036 JYUEY 5X36 2
6 | 132671000M 2 FCP 1
7 | WRA12 eIV TR M1 2 1
8 | PC032020 JUEY 3. 2X20 1
9 [NZ12 Fvk 8 2v=2 M12 1
10 | 093754000M T —J T K; 12X48 1
11 | 000062200M Ly ;B12X35 1
12 |WRAL2 IR M1 2 1
13 | PC032020 JUEY 3. 2X20 1
14 |098617000M | 7—ALCP 1
15 | KBB-2025B =R RIARTY 7 B 20X23%x25 | 1
16 | WRA20 v HTR M20 1
17 | PC050036 JYUEL 5X36 1
18 | 0916481006 AT T 1
19 | 070286100M AF N IRV — 1
20 | 025266000M X2 g AU 1
21 | BXI12170 AR 10. 9 ¥ M12X170 1
22 | NZ12 JFvhk 8 2v=2 M12 1
23 | 148559000M =R 1
24 | BL12BD Yo Z7AR— BLHHX AA MI12 2
25 | NZ12 Fvk 8 2v=2 M12 2

-12-




MWM1072W . MWR1072W S v EYT TV

SwITRILE ;3

AHEE| & M & & B i A i A% fii
26 | NNF12 770V AurFy b M1 2 2
27 | 148558100 |7 —LALCP 1
28 | KBB-2020B =R RIARTY 7 B 20X23X20 | 2
29 | 057788100M DN -
30 | 0873081000 A 20. 5X0. 27 -
31 | 075290100M Tyl 10 1
32 | BSZ10020 affHERNLE 7T M10X20 1
33 [ WSAL0 NEXHFHX 337 M10 1
34 | 148592100M LA—CP 1
35 | 1490370000 Fa—7;$620X70 1
36 | NNF10 75094 urFy h M10 1
37 | 075290100M Ty ;10 1
38 | 1485610003 TN— 3 T THRVE 1
39 | RBT08020 RZB 10. 9 M8X20 3
40 | WSA08 NEYPHR 337 MS 3
41 | 044097200M Ty 8 3
42 | 1485570003 | _N—AFL— | 1
43 | 000451000M B XARLE 8. 8 M10X25 3
44 | WSA10 NxYPHx 337 M1O0 3
45 | NSZ10 afEZFyh 8 2¥=2 M10 3
46 | 148562100M N -
47 | 1570240000 T 7k 1
49 | BZ12025 ALk 8.8 M12X25 2
50 | 042783600M Ty ;12 1

-13-




MWM1072W MWR1072W S v E I T Y
S THRILA; 3

e I R e s B i 4 i A% T
51 | WSA12 NEXYPHx 337 M1 2 2
52 | 143921100M RLXCP ; 3B 1
53 | BSZ10025 afAZRLE 7T M10O0X25 2
54 | WSAL0 NxYPHx 337 M1O0 2
55 | NSZ10 afXFvhk 8 2¥=2 M10 2
56 | 117940100M | F A 7 1
57 | BZ06020 ALk 8. 8 M6X20 2
58 | WRAOS IR MS 2
59 | WRAO6 7YV Rr M6 2
60 | NP06 ATV T F v b M6 2
61 | 143926000M RALECP ; 2 1
62 | 143930100M RALACP ;1 1
63 | 143940100M ATY T 1
64 | 044620100M oy A7V 7 H 1
65 |NNF12 75V FAfuarFy b M1 2 1
66 | 143935000M T — 1
67 | 143936000M FL—hk 1
68 | NNF10 7774 urFy b M1O0 2
69 |075290100M Jv¥y ;10 2
70 | 143937000M A RKCP 1
71 | RBT08020 ARZB 10. 9 M8X20 2
72 | 080414100M Jyiy ;8 2
73 | WSAO8 NEXFH X 33T MS 2
74 | 1064660000 SV AL ay 52 1
75 | 065482200M Ty ;12 2
76 | 085002000M AT T 1

-14 -




MWM1072W . MWR1072W
ArLyFA—7F

e

16% 17—e

16—=
14, 23% 15—,

11\@ 13, 22

& 1M—e

2—O 3%4

3—) ‘
—B

W - 86
—12
I
° 9
g4
wl

‘

1l ;_,@8‘21
3 @

v

—19

%@‘20

-
A& s 5 B i A i % T =

1 |1485391004 7L —ALCP ; ARLyF 1

2 | JCS203LLU o=y hma 7YY CS203LLU 4

3 | JPFL203G NA75Y v PFL20S3 8

4 | BZ06020 ALEF 8.8 M6X20 8

5 | WRAO6 vt 7R M6 8

6 |NP06 ATV T F v M6 8

7 | 1379610004 HNXR—CP ; AL vyF 1

8 | NNFO8 75V FAurFy b M8 2

9 |1609560000 ALy FuEr—5CP:610 2

11 | 117392000 |HF—; 17. 5X4 2

12 |KFD05050100 |~A 2w F%— UYUzgybT 5X5X10 2

13 | 1439010002 F¥ ;M3x28T (t10) 1

14 | 1439020002 F¥ ;M3x18T (t10) 1

15 | WRA12 AR M1 2 2

16 | WSA12 NEXYPHx 337 M1 2 2

17 |NZ12 Fvh 8 2va2 M12 2

19 | 143882000M T 4NN TA RCP 1

20 | BSZ08020 afHERLE 7T M8X20 4

21 | NSPO8 AFEATY T Fy N 4 MS 4

22 | 1439030003 FY ;M3Xx27T (t10) 1 | A7 a

23 | 1439040003 FY ;M3X19T (t10) 1 | A7y a

-15-




MWM1072W . MWR1072W S v EYT TV

AMLYFIL—L;W

33
13 y %) 34
\@ %j @38
o 36
N =35
B 19\@ A %
29
20— | .
S 44
;Z U Efm 539
1 R 23 3ﬁ@ Y @ 40
27 28 | | S,
| ®/:,46
Z»@28
AHER| W oM’ B B mi 4 i) %k T
1 | 1570613004 ARLyFTIL—ALCP ;W 1
2 | 148540000M U B4R bk 2
3 |NZ12 Fvhk 8 2v=2 M12 8
4 | BSZ08075 afHZRVE 7T M8XT75 1
5 | NNFO8 7oAy b M8 1
6 | 132367000M A 1
7 | 055474000M B FRNLE 8. 8 M8X20 2
8 | NSPO8 aAFEATY) Ty R 4 M8 2
9 | 132368100M 77 CP 2
10 | 080414100M Tvvx ;8 2
11 | BSZ08025 af RN E 7T M8X25 2
12 | NNFO8 7500 FA4urF v b M8 2
13 | 043345400M HEALNR—ZFY 7 2
14 | 132369100M T 1
15 | BSZ10035 aBFHERLE 7 M10X35 1
16 | BSZ10040 aBFHERLE 7T M10X40 1
17 |NSZ10 afxFvyhk 8 2v=2 M10 2
18 0999180000 HAATV 7, 50k g f 1
19 | NNF10 77004y b M10O 2
20 | 148542000M ¥ 7 bk 1
21 | 148543000M ¥ 7 b 1
22 | BSZ10055 afHZRLE 7 M10X55 2
23 | NNF10 75 0FAuarF vk M10 2
24 [000088100M |X—HE'> ; 19X3 2
25 | PC050036 JUEL 5X36 1

-16 -




MWM1072W . MWR1072W S v EYT TV
ALYFIL—L;W

33
13 y %) 34
> % @/38
L 36
N =35
| 19\@ A B
29
20— | o
S 44
;Z U Efm 539
1 R 23 3ﬁ@ Y @ 40
27 28 | | S,
| ®/:,46
26;@28
AHER| W M’ B B i 4 i) 8%k T
26 | 132377100M R CP 2
27 | BZ06055 ALEF 8. 8 M6X55 2
28 | NNF06 A7V a (=2 BRI Y/ 2
29 | 1323741000 n—7;¢25. 5 2
33 | 143888000M R CP 1
34 | 143891000M ATV T A3, 2X39X40 1
35 | 143892000M n—7 ;7 lL—x 1
36 | J6007LLU AR—=NX7Y 7 6007LLU 1
37 | DCO35 CHX AU Y7 35 1
38 | DHC062 CHHENAT TF 62 1
39 132375000M HT— 5 Aok 1
40 132379000M H—7 ; Av¥F 1
41 J6206LLU AR—=nN_XT7TVYV o7 6206LLU 1
42 | DHC062 CHHZBMNADU TF 62 1
43 1 072005000M AT A 1
44 | 058125200M Tyix; 26X2. 3 4
45 | PS050045W ATV Ty XTIy 5X45 1
46 | 0633120000 T x— 7T L— |k 1
47 | 1329461000 T YL T A IV A 1
48 | 1064670000 F~)v A4 ay 53 1

-17 -




MWM1072W . MWR1072W S v EYT TV

ayyy
F—7IEE
gy
oy =4
F=7Lovy
Ty
A& 5o 5 B i 4 i % T
1 | 1412471000 FrooRy ;3 (V=707 FY) 1
2 | BSZ08070 afHERNLE T M8XT7O0 2
3 | 146561000M TUNEFAVIPEFT Y PF1,/4 6
4 | 1486470004 g IN— 1
5 | BSPZ08025 aBXSWYFARLE 7 M8X25 1
6 | KHO600300GP | =7 YA —Z 3,/,8X300 S452—4 1
7 11033-06 AR—AxT )R PF3,/8XPT3,/8 1
8 |2091-06 74— PT3,/8 1
9 |1100-06 w7 PF3/8XPT3,/8 1
10 | 114388000M 7 4 VA 1
11 |2083-06-04 =v 7N PT3,/8XPT1,/4 1
12 |KHO600350GP | =7 Y& —A 3,/8X350 S452—14 1
13 | 1035-06-04 R—AT)R45° PF3/8XPT1,/4 1
14 |KHO400410DP | =7 Y&R—A 1,/4X410 S901—4 2
15 | 2086-04 TR PT1,/4 2
16 |2091-04 T4— PT1,/4 2
17 |1013-04 A—A=v )V PF1/4XPT1,/4 4
18 | KH0402800GP | =7 YAR—A 1,/4X2800 S452—4 | 2
19 | 2081-06-04 T PT3,/8XPT1,/4 2
20 | 1068-08-06 Ty PF1/2XPT3,/8 2
22 | KHO403500GP | =7 YA&—A 1,/4X3500 S452—4| 2
23 | 1033-04-06 AR—Ax)LR PF1,/4XPT3,/8 2
24 | 0985221106 UYL H L CWP50X180X380 1
25 | KHO0401900GP | =7 YA —A 1,/4X1900 S452—4| 2

-18 -




MWM1072W . MWR1072W S v EYT TV

ary
F—7ILEE
§95
5=
=
F=Iravs o
27
F=INELT
AHES| B dn 11 I <IN /) ik D

26 | 1033-04-06 AR—AxT)R PF1,/4XPT3,/8 2
27 | 1490361006 SUUHE CWP65X365X%X630 1
28 | 1486480004 JHX—: 830 2
29 | BSRZ08020 A X SWRWYHARNLE 7 M8X20 4
30 | ILT200 Aany B 4. TX202 4
31 | ILT300 Aanmy I HA 4. 8X301 4
32 | ILT380 Arvany ¥ A 7. 5X382 5
33 | 0887210000 AR TNF 2 —T 8
34 [ WSA08 NEXFHX 33T MS 2
35 | WRAOS 7R M8 2

1

36 | 0889770000 ZX; 450—500r pm

-19-




MWM1072W MWR1072W S v E I T Y
TUYIYTIW

a—F. 3%~

A& 5o 5 B mi 4 i) % T =
1 | 1345450000 Z2—FRK;5000 1| "25ff
2 | 1439911000 V¥ Ry 7 ACP ; MWM 1
3 1591750000 v fara=vk; MWM 1
4 | 1491580000 CAN=z>hE—F ;6 2E 1
5 | 1505561003 HX—; CAN=z ha—7F 1
6 | 0006900000 =X ;M8X14 1
7 | WCR1HOS PINRRZYP X 1vaVay MS 1
8 | 1439940000 a—R; YUY Ry 7R 1
9 | 1591720000 a—FR kUt 2 1
10 | 1439960000 a— R F YRy 1
11 | 0887210000 AL FGNF 2—T 1
12 1105931000 Yy a—FK;rH— 1
130937320000 Xk — 1
14 | 143973000M FlL—h 1
15 | BQZ06012 SWQWYFAR/LE 8. 8 M6X12 2
16 | CP03016 +F5_Raxry M3X16 4
17 | Wso3 NREYPHx 297 M3 4
18 | WRAO3 v 7Y HR M3 8
19 | NAO3 Fvh 8 232 M3 4
20 | 143974000M 7Z7 v b 1
21 |BPZ06016 SWYFAR/LE 8. 8 M6X16 2
22 8042390000 =TT 4 AR —H A, T 1
23 | 1593100000 TV VarskvrH 1
24 10937330000 R =R/ SV 1
25 | FU30 t=—ZA;30A 1

-20-



MWM1072W MWR1072W S v E I T Y
TUYIYTIW

34

I—FihAFUbA

AHET| 55 & 5 B w4 i) A% T =
26 | BSZ08030 afHERNLE 7T M8X30 1
27 | NNFO8 774 nrty b M8 1
28 | 1591741000 VYR 7 ACP ; MWM,/ 7 2 1 | /2. 3%
29 | 142490000M | 7> Z v 1
30 | BSZ08020 afHZRILE 7T M8X20 2
31 [ WsA08 NEXFHX 33T MS 2
32 | 044097200M vy ;8 2
33 | ILT200 Arvanay B A4 4. 7X202 1
34 | 1592250000 G HR— 1
35 | 1206260000 FlL—h 2

-21 -




MWR1072W

Soay

&S| 55 5 B mi 4 i) A% T
1 | 1439830000 Fvarva=yhk; 73 1
2 | 130181000M FL—hk 1
3 | CP03012 +F_Raxry M3 X12 4
4 | Ws03 NREYPHx 297 M3 4
5 | WRAO3 v 7P H R M3 2
6 | NAO3 Fvh 4 232 M3 8
7 | 1182500000 ~ 7% v h 2
8 | 1451210000 a— K, 7vay 1
9 | 1626260000 PO I AT T 1
11 |143981000M |EH—7L—Fk 1
12 |NSZ08 afFZFvyh 8 232 MS 4
13 | WRAOS 7R M8 2
14 0937320000 Xk — 1
15 | CP03020 +F_axry M3X20 2
16 | CP03014 +F_Raxy M3 X14 2
17 | Wso3 NEYPHx 237 M3 4
18 | WRAO3 v 7P H R M3 8
19 | 1451200000 a— K, AT by 1
21 | 1570380000 AT R FAu 1
22 | ILT250 Aany B A 4. 8X251 5
23 | ILT380 Afvany XA 7. 5X382 5
24 0937330000 ot amwsxy b 1
26 | 1569771004 INNTANT Ty b 1
27 10853120000 ~ 7% vk 2
28 | CP03010 +F_axry M3X10 4
29 |NAO3 Fvh 4 232 M3 4
30 | Wso03 NEZHFH X 2937 M3 4

-22-




MWM1072W . MWR1072W S v EYT TV

N E

A& s 5 B mi 4 i) % T =
1 |160397000M 777 vk L 1
2 | 160396000M 777 v h ;R 1
3 | BSZ08025 afHZRNLVE 7T M8X25 10
4 |NSP08 AFEATY T Fy N 4 MS 10
5 |1601340000 VTrov7 s o 2
6 | CP04025 +FRaxy M4 X25 4
7 | NNFO4 7504 urFy b M4 4
8 | 1601350000 NI F0F Y 1
9 | CP04025 +FRaxy M4 X25 2
10 | NNFO4 7oA nrFy b M4 2
11 | 160398000M Tr— kAT 1
12 | BSZ08016 aBFHERLVE 7T M8X16 2
13 | WSA08 NEYPHR 33 MS 2
14 | 1603990000 2—RK;5000X1800X500 1
15 | ILT380 Aranmy XA 7. 5X382 2
16 | 1600840000 FYL s B e a v R 1
17 | 1601500000 TYL s gray Iy R 1
18 | 1601510000 F~L: 15km/h 1
19 | 1604031000 NI N A 1 | A7 v a a5

-23-




SSB-50
INJ—o 3420k

AHEE| & W & & B i A i A% fii
ASY | JSSBO50ASY vaAfrh 7/ SSB—50 1
1 | JSSBO50-1ASY | Ya A >k A>FZ7 SSB—-50 1
2 | JSSB050-2ASY |[YaAf vk TUXZ/I SSB—50 1
3 | JPY6226-1 rrY¥a—2 (SSB) 2
4 | JSSB-ASY ANRA4H (SSB) (#3) ASO050 2
5 | JFY6228-21 T4 T4 7a—2 ArF (SSB) 1
6 | JSSB050-1 NAT A4vF SSB—50 (385) 1
7 | JPC14ASY 7Ty 73 (14) 2
8 | JSSB050-3 TR N~ A SSB—-50 1
9 | PS100050 AFY Y 10X50 2
10 | JFY6229-1 T4 T4 7aA—r TouX (SSB) 1
11 | JSSB050-2 NRAT TIHX SSB—50 1
12 | JSSB050-4 TR HNR— TUH SSB—50 1

-24 -




nj
TH]

g

S—250226C

F & A # 0668555 F m 1 L K # 1 0 6 1 F ih 2
TEL 0123-26-1123
FAX 0123-26-2412

F M E XM 066855 FmmLEEREH:H; 1 06 1 F M 2
TEL 0123-22-5131
FAX 0123-26-2035

098-4100 XIEMEEMFLEHORY1191EFM44
TEL 0162-82-1932
FAX 0162-82-1696

BOIL B EPT 0802462 W LA 2 2% 1 THEH1 2% 4
TEL 0155-37-3080
FAX 0155-37-5187

PIREEXR 086-1152 FEZMHZFRHILET 2 TH 16 &F 2
TEL 0153-72-2624
FAX 0153-73-2540

FRIEETAEAMTILEMRE 1 111E]120F3
TEL 0198-46-1311
FAX 0198-45-5999

BB EHERKEHFSETH2 1 — 1
TEL 022-353-6039
FAX 022-353-6040

vl B ¥ P 3230158 HF K B /bt R 2 5 1 2 — 1
TEL 0285-49-1500
FAX 0285-49-1560

WA R EPT 4850081 BHRB /N THEANFTIHG 78 — 1
TEL 0568-75-3561
FAX 0568-75-3563

B = Z¥EpPr 7000973 MLEBMLUMAEAXRTFEHF 704 —103
TEL 086-243-1147
FAX 086-243-1269

He A B % fr 8618030 REAEBEAMER/MILAT1 6 3 9 — 1
TEL 096-389-6650
FAX 096-389-6710

OB EFT 8851202 EMEMB T ESWHETEELY 1003 —2
TEL 0986-53-2222
FAX 0986-53-2233

Hlge
Ho}
1113
e
3

1t & 8 ¥ PFr 028-3172

DiE

it
m

W& & % PFr 984-0032





